SAP ABAP table VEDAPO {Contract Data}

VEDAPO-WIMID = SWWWIHEAD-WI ID
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VEDAPO-VENDREG = TVRG-REGEL
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VEDAPO-VPOSN = VBUP-POSNR
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SWWWIHEAD

CLIENT [CLNT (3)]

WI_ID [NUMC (12)]

TOO0O
MANDT [CLNT (3)]

TVAS
MANDT [CLNT (3)]
AKTVT [CHAR (4)]

TVKG

MANDT [CLNT (3)]

KUEGRU [CHAR (2)]

TVKS

MANDT [CLNT (3)]

VKUESCH [CHAR (4)]

TVLZ

MANDT [CLNT (3)]
VLAUFK [CHAR (2)]

TVRG
MANDT [CLNT (3)]
REGEL [CHAR (2)]

VBUK

MANDT [CLNT (3)]

VBELN [CHAR (10)]

VBUP

MANDT [CLNT (3)]

VBELN [CHAR (10)]

POSNR [NUMC (6)]




